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After the running of following program, how does the distribution of memory usage become ?

Select it from following diagrams. Answer by (A),(B),(C) or (D).
Arrows in diagrams indicate pointer, it points its value.
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main() {
char ** slot;
slot = (char  * )malloc(sizeof(char *) *4);
slot[0] = strdup(“jaist");
slot[1] = strdup(“ishikawa");
slot[2] = strdup("nomi");
) slot[3] = strdup("asahidai");
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Following program will output 2 lines. What is output ?
Care symbols.

i
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#include <stdio.h>
#include <stdlib.h>
#include <string.h>

char *
splitword(char xdst, char  *src, int sep)
char =*p, =*q;
p = src;
g = dst;
while( *p) {
if( *p==sep) {
p++
while( *p==sep) {
p++;
break;
else {
if( *p=="\) {
?rq++ = *pt++,
if(t *p) {
break;
}
}
*Q+H+ = kPt
}
*Q = \0’;
return p;
}
int
main()

char *line="nomi,jaist\\,hokuriku,,ishikawa";
char word[BUFSIZ];

char ~*v;

v = splitword(word, line, ')’);
v = splitword(word, v, ',’);
printf("%s\n", word);

v = splitword(word, v, ",);
printf("%s\n", word);

exit(0);
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What is output when the following program runs ?
Care symbols.

#include <stdio.h>
#include <stdlib.h>
#include <string.h>

char *
swapchar(char  *dst, char  =*src, int to, int from)

char =*p, =*q;
p = src;
g = dst;
while( *p) {
if(  *p==from) {
if(to<0) {
/* nothing =/

else {
*(Q++ = to;
}

pH+;

else {
if( *p=="\\) {
*Q++ = % p+t
ifl  *p)
break;
}
* O+ = *pHt
}
}
*(Q = \0’;
return p;

int
main()

char *in="aburakatabura";
char mid1[BUFSIZ];

char mid2[BUFSIZ];

char mid3[BUFSIZ];

char out[BUFSIZ];

swapchar(midl, in, a, 'u);
swapchar(mid2, mid1,\\’, 'k’);
swapchar(mid3, mid2, -1, 'a’);
swapchar(out, mid3, -1, 'b");
printf("%s\n", out);

exit(0);
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Following function hashA and hashB are hash functions which expect string as key.
Describe the consideration of their performance.

int
hashA(char  *src, int radix)
{
unsigned char *D;
unsigned int sum;
sum = O;
p = (unsigned char
while( *p) {
sum += * p++;
return sum%radix;
}

*)SIc;

int
hashB(char *src, int radix)
{
unsigned char  *p;
unsigned int sum;
int c;
sum = 1027;
c =1
p = (unsigned char *)SIC;
while( *p) {
sum <<= 1;
sum += *p * C;
c += 2;
p++;
return sum%radix;
}




